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~ Note :
1. This question paper has 100 questions. Each question carries 2 marks. All questions are
compulsory.

2. Read carefully instructions regarding method of answering questiqns given on the back side

of the OMR Answer-Sheet and indicate your answers on the OMR Answer-Sheet provided.

3. Use of any type of Calculator or Log table, Mobile phone and Smart watch is prohibited.
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(A) 32 (A) 32
(B) 30 (B) 30
(C) 28 ©) 28

- (D) 25 (D) 25

2. foray 9l § ¥ 1,25,000 =t Tl 16% 9fa 2. In how many years will a sum of
a4 = F WA T 1,57,464 & T T, ¥ 1,25,000 become ¥ 1,57,464 at 16%
afe = erdarfies w9 Q@ Gaifsd m' per annum interest, if the interest is
AT ? compounded half-yearly?

: 4 |
(A) 2.5 EN\(A) 2.5 years
(B) 157 B) 1.5 years
© 2 S (O 2years
(D) 34 (D) 3 years
2-C [3] -




FifE T SR H fag 4 | I 3R i ¢ |
5% gferor § 30 foRmfl. s farg B @ A g
¥ 3R fag C 7 S0 famel. s €1 9% fi T
graT & 3R 60 freht. S farg D @ 9 gHa
% 3R farg E % 50 Tereft, S @ | 36 9% 9%
forg E 9 < vy & 3R 20 fepeft. STt formg P
R gl um W1} 1 9% 150 TRl W fag G

QT W € 3l famg H A 80 fepel, SRt

%k AT § |

3. g HF T Afag Dirafqma ??

(A) <faror-ufeem
(B) SW-gd

(C) IW

(D) <fequr-yd

. fag H iR fag F % o9 & =gaw @
T ?

(A) 100 fomt,
(B) 150 e,
(C) 170 femit,
(D) 90 fert,

¢

m!
“‘))ircctiun for Question Nos. 3 to 5
"' Study the information given below carefully

and answer the questions that follow :

Kartick starts moving in a car from point A
He moves 30 km to the south and then turns
left from point B and moves 50 km till point
C. He then turns right and moves 60 km
and then turns left from point D and moves
50 km till point E. He then turns right from
point E and moves 20 km and then turns
right from point F. He moves 150 km and
then turns right from point G and moves

80 km till point A and stopped.
3. In which direction is point D with
respect to point A?
(A) South-west
(B) North-east
(C) North
(D) South-east
4. What is the shortest distance between
point A and point o
(A)
B) '150 km
7/ (C)
(D) 90 km

100 km

170 km




5. 3 G & W= ¥ fag ¢ R faum . In which direction is point C with
%2 respect to point G?
(A) SWR-H (A) North-east
(B) SW (B) North
(C) <faor (C) South ‘
(D) zfor-ufyay (D) South-west
6. QA Hhf=xd gl = =t wmwr: 12 Qe . The radii of the two concentric circles
3 37 Tl ¥ 1 9% g9 A S B gm are 12 cm and 37 cm respectively. The
F TY-T@l Bl § 1 S wt |l 9 chord of the larger circle is the tangent
HIT to smaller circle. Find the length of the
hord :
(A) 35, e
(A) 35cm
(B) 42 &
(B) 42 cm
(C) 48 9Hi. _
(C©) 48cm
(D) 70 9. D) 70cm
7. T G&AT I 9 § IO F0 1 T 9 q .. A number was divided by 9, instead of
yrT feran T o | 39 IRUAEEY ST being multiplied by 9. As a result of
4 Ffe ot | 39 Taa oAl % 0 IW T this, there was an error in the answer.
gfe 3R () TITed S 9% TE1) What is the percentage difference
FMET? (correct to two decimal places) in the
answer due to this miscalculation?
(A) 97.44%
‘ (A) 97.44%
B) 98.77% '
) ’ (B)  98.77%
(©) 94.24% (©) 94.24%
(D) 91.56% (D) 91.56%
2-C [5]
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8. @w@a@mﬁmq@,m 8. A shopkceper keeps the marked

price of an article 40% above the

T R/ 40% ek W@ ¢ 13 % g2 h

6.5% A ST 15.5% A ¥, A = cost price. If he increases discount
D70 o D /0 ’

. fi 6.5% to 15.5%, then the profit
3 378 U T W | AR 9% Sifwd e T °

would decrease by ¥ 378. How much
W 27% G2 @ €, d W feohaT @™ :

- profit would he earn if he gives a

ﬁmm%mﬁmﬁaw%uﬁta&
3 S aiftfer w9 @ FAIR@ § 3 Tdh

B ? <\0
| Q(’v‘ L \discount of 27% on the marked
3 a2
(A) 60 \u{%@ f‘ rice?
L)
b¢ o7 () T 60
= (B) T78
(C) T 48 .(C) %48
(D) %66
(D) %66 |
. T H H S GAF Aife foRdi H e . A loan is to be returned in two

equal yearly installments. If the

rate of interest is 15% per annum,

compounded annually and each’

fem T 5,819 B, @ y9R@ F@ =
- installment is ¥ 5,819, then the total

(TH)T: ,
interest charged (in¥ ) is :

(A) 1,866

" (A) 1,866

V (B) 2,178 (B) 2,178
(C) 2,028 (C) 2,028
(D) 2,264 (D) 2,264

& (1.
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10. =75 @ fore Yt =1 wiee =y ) fig 10. Which pattern can be folded to make

(A)

-------

ag @;\_

the cube shown?

.......

(B)

(D)

©

2-C
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11. fr@m T Est STeT-3Te FR I 11. Which shape can be made by
Iy w0 e § ¥ feg TR Wl assembling all of the individual shapes
FATAT ST Hehell © ? shown?

A M
“‘I A B
(A) (A)
(B) (B)
©) (O
ZZ{ON o
SR
€\
© e
NS /('\"
R

- 2-C
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12. WRY X 3R Y T 3% 9 10 % i
15 5 W A W T ¥, o uRy Z
T el wgd ® | 3 T a9 ww

e et fe S R, W e e Ay

S ¥ BRI O W T T e (St
et e = 8) 25 o o
1 ik Yaﬁ.wmm%#q'ga;m
Tien ST & i R SR 8 o e e

STl & 9o Z h e e s e 2

5% B Tl W EFMY -

(A) 15EH

(B) 17»%siéﬁ' ik

(C) 10EH

(D) lzlsi%ﬁ’j

TH JA A Trﬁ-on PO, a?’R =™ RS
(% O F |H) qm—g;e’{aﬁfag TR
mw%mm@%aﬂwr
qaaﬁﬁm#w%mﬁaﬁﬂwm—
42°%, ?hz#mPORmm% i

i3k

~(A) 96°
(B) 126°
(C) 108°

) 110° -

N

R1t)

)

Doy

\C,»
Y

12. Pipes X and Y can fill a tank in
10 hours and 15 hours respectively,
and pipe Z is an outlet pipe. If all the

three pipes are opened together, it

, 1 ‘ .
takesl 2-5 hours more than the time

taken be and Y together (when outlet
pipe is closed) to fill the tank. Xand ¥

are. o'pened together for 35 hours and

then both are closed, and Z is opened. -

)

é/’

\Now Z can empty the tank i in:

7

g% n(”A) 15 hours

r‘.“l

/Y
\/(B) 17 hours

\

©) 1o hoursi

11
(D) 125 hours

13. A chord .PQ"én_cl a diarﬁet'er RS of a |
cirél_e v(‘with‘centre O) are prdduced to
interséct each other at a point T and
QT is 'équél to the radius of the circle.

“If angle PTR = 42° then the measure

of angle POR is: '

(C) 108°

(D) 110° |

2-C




T . 143ﬁT1<%ﬁmﬁ§w

fr=fataa afass = AT T 1;9‘—?1 35 T Study the given table and answer the
g . questions that follow :

’ D’i ction for Question Nos. 14 and 15 :

' 5 iy | ber of d
iferen T fardrex g fafu= 29§ fafi= Erﬁﬁ The table shows the number of runs scored -

by a cricket player in different countries in

H S T G g § ,
: different years :
<Y— ' Country—
A B c | b
4 B c | D | Year

qd) |
2017 55| s3] 65 | o 2017 52, 53 | 65 | 69
L2008 | es | 87 | a2 | 7 2018 66 | 87 | 42 | 76
2019 59 84 80 33 2019 59, |. &4 80 33
2020 73| 19| 23| s 2020 73 | 19 | 23 | 81
2021 42 |55 | 192 1itar 2021 42 | 55 | 92| 41

—

14. m faaret & <9 B H 2019 3R |- 14 What is the ratio of total runs scored
: 2021 9T = D ¥ 2018 s o200 | . by the player in country 4 in 2017 and

e g o @ W A 2017 @k 2020 and in country C in 2018 and
2021 to the total runs scored by the

; Ji 12020 7 3y C 5 PGEin 2071 " player in country B in 2019 and 2021
I T el T 1 ST &7 and in country D in 2018 and 20207
G %o, A) 916
(B) 7:8 oy o
€ 34 (©) 3:4
0 QLis () 11:13




15. & 99 9 & WA 68 9 ¥ e 3

16.

Fol THAR it T 541 ?
(A) B
(B) D
(©) 4
D) C
mmwmm@wmwﬁi@
TT Y T I T

T T H IS W T @A = 2520
% 198 T § T ST v i ¥ @ ag
fam g |

v R A
g3t Rt Fetitar feavor

15. In which country did the player

scorc the maximum number of runs
in aggregate -during these five years,

taken together?

©) 4
D) C

16. Study the given graph' carefully and

_answer the question that follows : -

Total number of pages in a book =
2520. It is known that the novel is

* completely read in five days.

Degréev'vis_e distribution of

‘pages read on each day

' @ﬁ?aﬁﬁﬁ?}ﬁmﬁ;aﬁ\aﬁq@aﬁ- What is the difference between the °
zj@ﬁ F R E? ‘ _number of pages read on Day 2 and
Day 4?
(A) 119 !
. (A) 119
LB 18T (B) 147 -
(A ) 133
(D) 98 s

[11]



L, 2-C

17.

18.

(C) 47.6%

5 e AR G M FHA L 1552 1A
T e W HTA T 2,50 T & S ®
3R TF ¥ R F T 1,50 @R W
3 @ S e ik 7 ¥ w219
A s &1 7 Aegw AR 4 ¥ w U

Ara (T H) | E?

(A) 184

(B) 162

©) 175

(D) 198

[ thejobsyogi.com

<t ik ot & 34 e T H 36.4%
<t ¥ | e 3 TG W @ 8 T W
e 21 I & 1 e § = 6 R
wferera <= 2

(A) 44.8%

(B) 52.7%

(D) 44.2%

17. The cost of 5 notcbooks and 6-pens:

is  155. If the cost of a notebook is
decrcased by ¥ 2.50 and that of a- pen

is mcreased by ¥ 1.50, then the cost

of 8 notebooks and 7 pens becomes

7 219. What is the original cost (in %) _

of 7 notebooks and 4 pens"

!(B) 162

© 175

(D) 198

18. There is 36 4% sugar in the 34 litres

solutlon of sugar and water. After
b0111ng 8 litres water get evaporated
from_ it. What is the percentage of

. sugar left in the solution?

\ (A) ' 44.8%

& ® 52.7%

(C) 47.6%

(D) 44.2%

[12]
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19. 1 sfEem KU T ¥ gy s @
frshd 1, 11 3R 111 2T T ¥ | srfime
& § WA BN R ¥ e wg )
T Fedl @ T Wit €1 9, ok i
ﬁaﬁq-m/@ﬁmaﬁumﬁmm

19. Threc statements are given, followed

by three conclusnons numbered I, II
and III. Assuming the statements to be
true, even if they seem to be at variance
with commonly known facts, decide
which of the con'clusions logically

follow(s) from the statements :

~ Statements :

-Some chargers are batteries.
Some batteries are mobiles."

All mobiles are tabs.

F—Iﬁ?&: ' . ,

‘ : Conclusions :
L _ ® %H S ; L. Some tabs are batteries.
L W Sl e %,l IL Al batteries are mobiles. -
. W = g ; III. Some tabs are chargers.
(4) ﬁﬁ; RRELIY i . (A) Only conclusions I and III follow
(B) fadh frenet 11 3#{ II] ST (B) ‘Only conclusions 11 and- III

€ follow
(C) fath frend 11 argaa™ Tl & 7\'—‘\\4/ C) Only conclusion I follows
)
: <
(D) fak frepd | 31‘1‘8'{‘01 H T o Qf 1 Only conclusion I follows
2-C o
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20. T MR F Firom 3R T faeet & SmuR
F fom a1 faeist & SnuR &l
fasr it fadist i 9 &1 S7UE
7 9% 17X ¥ ST 1 RS ST
Q 39 H T ?

(A) 81:49
|

(©) 28:27

(D) 27:16 [thejobsyogi.com >

21, afs X wfE 56 Fedee @ T @

T TS, 4l 98 YT W 3T Tdd dh
| 5

Lom 3

TG ST | € ST AT H 3

wﬁwmﬁlwmmﬁa@,

B e T L.L L. T E

fere 81 Fv i (Fonf/ein ) @ e
sehame
(A) 96.
(B) 84
(© 75

(D) 68

21.

20. The radius (;f a sphere and that of the
base of a cylinder are equal. The rétio
of tl.lc radius of the base of the cylinder
and the height of the cylinderis 7 : 9.
What is the ratio of the volume of the

sphere to that of the cylinder?
(A) 81:49
(B) 1

(C) 28:27

:.l

(D) 27:16 -

If 5 person travels -at a speed of -
| 56 km/h, he will reach his destination
on time. He. covers %of his journey
in go‘f time. At what speed (in km/h) |
should he travel to cover the remaining
distance to reach his destination o.n
time?
(A) 96
(B) 84
© 75

(D) 68






22. firdet arsra 1 Ol R, Rorad ) Tarnen
QA gE T W T H wen ¥ o
QA afeal ¥ AT B A= T 3 e
e o1 FHU T 3R Frzgam w5 o 3
Sfea ofR 99 TR & TR ¥ ) dw 5

e A g ot e @ A

3R T A R 1 3T 0 S iR ww

33 ¥ T oI T wRew 9 A
¥ | e rfrefed § 1 HRem e @ 9
gefa &2 1

(A) &
(B) =i
© ==

(D) ¥=d

23. T fAfv=@ g2 s #, ‘Look their

_books’ #1 ‘lame’gn’, ‘Our books|look
good’ &l ‘n’;(\ gn me ak"":ﬁ'}'{ ‘Publish
their good books! I "r‘rie nx la\fs’ %
Y 1 gedg fra I gl

(Feaquft : @t 2 o Q-3 & Fe

) |

Tt g2 Wi #, Their (look’ & faT

Gt FZ FNEM?
(A) nxla
(B) fsgn
(C) .nx gn

i

S

of Jm) |

) 22/(A) Daughter
4

2=

22. Priyanka.is the granddaughtcr of Ajay -

who is marricd to Natasha. Manish is
the brother-in-law of Ajay who has
two daughters but no son. Rohan is
the cousin of Kartick and brother of
Priyanka. Udit and Vansh are the sons-
in-law of Natasha. Vansh is married to
Karishma and they have two daughters

. and one son. Udit has one son and
one daughter. Tanisha and Smriti are

“W\_ the daughters of Karishma. Manish is

unmarried. How is Karishma related
1 B
r to Rohan?

(B) Mother
(©) Aunt
(D) Sister

23.

In a certain code language, ‘Look their
books’ is coded as ‘la me gn’, ‘Our
books look good’ is coded as ‘nx gn
me ak’ and ‘Publish their good books’
is coded as ‘me nx la fs’.

(Note : All codes are two-letter codes
" only)

A |
~ What is the probable code for ‘Their
look’ iri the given code language?

(A) nxla
(B) fsgn
(C) nxgn
(D) gnla

- (D) gnla
2-C !




24, T TN WY H IMCREH #vr 3g% | 24. Theinterior angle of a regular polygon

T T H % 4 T Q30 afuw is 30 more than 4 times its one exterior
¥ 3@ gy ® fawul @ den 9w " angle. Find the number ofdiagonals in
T : | e " this polygon :

(A) 72
(B) 54
(C) 90
(D) 48

. P3 31,1 2,000 = Toft | Tk =R ﬂg' 25. P started a business with a capital of

foran 1 2 78R F 9 Q% 80,000 =t gt . % 1,12,000. After 2 months, O joined
¥ =NR T wite B T oK fR the business with a capital of ¥ 80,000
2 TEX W% R T 72,000 1 0 % e | “and aftgf another 2 months, R joined
e L ol e — & B the business with a capital of ? 72,000.
% 10 7€ 9% Q T T 8,000 AT & | After/ 10 months from the start of the
ferw i R ¥ 3t T 8,000 ﬁma R ‘ busmess, Q w1thdréw T 8,000 and R
g O 1w qd F o W AW F oy | also w1thdrew T 8,000. If Q received

TR FH eI 2 11,900 ¥ &, ?ﬁ% 4 11,900 as his share in the profit at .

| the end of a year, ‘then' the total profit

R | P .
: ‘ was : ¥
b‘ (A) T 33,600 ' 4k
- (A) T 33,600
"~ (B) 40,800 .
| (B) - 40,800

(©) Z37,500
(C) ¥ 37,500

D) ¥
) S 2200 (D) ¥ 43,200

[16].



26. SR § 494 B 7 Tk Tey & | wlen
§ 53% TEH AR 79% wferdi % we-
ot e fRan | AR SE B W g

Wi 68% €, o T o uma% =
refil 1 SET T I s QG 4’«\
(A) 285 0 amination :
| ‘8% of ) 285
(B) 315 xS *
IR y(B) 315

(C) 270 l g it

(D) 255

27.qﬁa,b,c,dmmﬁﬁ
@ (ab + bc + cd)t - (a® + b + D)
B2+ A+ ) FAR R
(A) 0 |
(B) 1
€ -l
(D) T A HE '
28, @H@Wdﬁawmi@ﬂw%
it & 1 7 aifehd gea § 25% H e

26. 494 students took a mock exam in
' Bangalore. 53% of the boys and 79%
of the girls cleared the cut-off in the
examination. If the total percentage of
students qualifying is 68%, then find

e number of girls appeared in the

©) 270
(D) 255

27. Ifa,b,c,darein geometric progression,
then value of (ab + bc + cd)? -
(@ + b2+ ) (B*+ 2+ dP) will be :

(A) 0
(B) 1
€ -l
(D) None of these

28. The marked price of an article is 50%

above cost price. When marked price

Bt ¥ oik fosmt e H 20% 1 i wei is increased by 25% and selling price
T, a9 o fisa o /@ g K| 'GHHI%I is increased by 20%, then the profit
e g 3iferd Ted ¢ 450 8, 0 T becomes double the previous profit.
el B | é)\)c’ AT/ \ If original marked price is ¥ 450 then
A) 7375 3) ‘ ongmal selling price is :
EB; L o "m&“ (A) 7375
’%\/ // B) 7350
(©) %315 NS
(D) %400 =7 O
(D) %400
2C

171




St et e L ey i

' 30. A ABCH, 4, B3R C ¥ @i T &«

2o, s, XYZ T T Pt & e ¥Z
' o ) e 18 . ¥ AR AT, YZ
W S &, A XT N rfurehan Hfed
g (AR H) ¥

(A) 6v2
®) 8 A
==
©) 63
' thejobsyogi.
_(D)‘.9 [ J yglcomA

wmw: fag X, ¥ 3R Z W faula 'gsnarh

IR iAx, BY ¥R CZTig O™
RS w 1Ak LY0Z=130°% ¥R

29. Let XYZ is a right-angled triangle
with hypotcnusc' YZ of length 18 cm.

If XT is perpendicular on YZ, then the

on \r\naximum possible length of XT (in

a0
ol |

30, In A ABC, the perpendiculars drawn
from A, B and -C meet the opposite
Sides at points X, Y and Z respectively.

AX, BY and. CZ intersect at point O.

A9l £C ¥ SR farg P fae If ZXOZ = 130° and the bisectors of
%9 L4PC="? /4 and £C meet at point P, then
(A) 1250 ZAPC='7
(B) 115° () 125

. B) 115°
©) 1i0° (B)
e 4t C) 110°
D) 130° (A

(D). 130°
2-C | ‘ [18]
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31. f9 & 9 &g SFR-HYg =+ e 31. Which group of shapes can be
i< ST 7T AR A 5771391 7y Hhal g ? assembled to make the shape shown?

(A)

(B) (B)

©) © .

(D) ,f//@ :

| ‘ Rl
2-C L thejobsyogi.com />1

—






32, ATEH W H %,14mﬁm%um

a2 B IER 9 o & 3R B fireret
T W 6 A § U € | B A

A) 421
(B) 36fE.

! (C) 49f

thejobsyogi.com

| (D) 35f&A

33, 90 Frdfl/AR T TR @ e T
@mﬁaﬁmmﬁmﬁiwﬁ%l
& e 3 g v g 3, o o
TEeh & 40% s &, F forrt T

YR HT A ?

(A) 52.4 9%
| (B) 50.8 ¥%vs
(C) 57.6@%vE
(D) 48.2 &%z

i

32. A does 2 of a work in 14 days, :
5

Then B joined him and they together

completed the remaining work in

6 days. B alone can finish the whole

(B) 36 days
(©) 49 days

(D) 35days

33. A tr_éin runningA with a speed of
90 km/h crosses a persoh in 24 sec.
Then in how much time this train
c‘rdsses ahptﬁer s;afionary train whose
iength is 40% more than the length of

. previous?

;'.i'f:\,(A) 52.4 sec
¥/iB) 508 sec .
. (C) 57.6sec
(D) 48.2sec

2-C
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we |, 34 31 35 & g frdyr
fem T SR W A7 6§ fi7 sofEl ¥

Direction for Question Nos. 34 and 35 :

The given bar chart shows the sales (in

eitfererT Hef 1 fohl (Fom #) T thousands) of sets of television of three
Tt |_ companies in three years :
7004 AN
L1 C<<\
) 7 2 »
/ v% " 7
527 ; = d ;(;701—- 3 4
S0 s a - f § "y / o /] 0
428 B 5 il /| < 2 /’*‘;00 4
) LY 0T mamE p s
wt TRE ; £ ‘ 5 EEXﬁA/PUR‘ 2 o [ q B ; ]
; & NRE = 300 g |iE AR E
1 EEY | i T i g
ot A1 | '; 7
/ : al g w04 2 ﬁ
M1 4 /| |l /
9 AL £ g
Y " i 2004 i [/
v /| R E & /
b & 4 AL £ g
% / & 1004 : ;
0 REALME SAMGUNGIEECNEFLS ¥ & B E
: 0 I o 2o b N
— REALME SAMSUNG ONEPLUS
n i ~
2018 2019 2020 ||
2018 2019 2020
34, 99 W@ ¥ faT REALME 3 34, What is the difference between

SAMSUNGéaﬁﬁm‘rﬁ aﬁmfaafrﬁ
fraT et e 2

(A) 81
(B) 99
(C) 104
(D) 75

35. af 2018 § ONEPLUS W Wfd
Sefifore aifefa @ 946 o1, i 2018

3 e st et @ 9 R
(A) % 6,53,222
(B) % 6,35,712
(C) ¥6,35318
(D) % 6,53,572

N f"’\ 2018
)

: ,\\,,
—

the average sales of televisions of
REALME and SAMSUNG for three
years?
(A) 81
B) 99
(C) 104
(D) 75

35. If profit earned per television by

ONEPLUS in 2018 was T 946, then

= find the total profit earned during
A) 6,53,222
=) ”‘}B) % 6,35,712
MI(C) 635318
(D) ¥ 6,53,572




Uy E. 36 W38 H fo fewr Dircction for Question Nos. 36 to 38 :

o 9 iR e w1 SEgEE 3t | Study the pie chart and the table carefully
sik vl % I 31 U favafaeem ¥ @ | and answer the questions. The percentage
STe- st fawal § a1 Wi fa@wor | distribution of lecturers in five different

o = & fe@rn T Y | dFAw ®FA W@ | subjects in a university is shown in the pie
800 ® : chart. The total number of lecturers is 800 :

22%

Chemistry

English

AT ey : it Lecturers | Male : Female
" Tfor 7-3 ' Maths 7:3
A fag 6:5 : Chemistry 6:5
s 4:1 _ English 4:1
AR 3:5 History 3;5
Sita fagm 3:1 Biology 31

36. 3t 3 sfer ¥ wfeen o= =1 36. What is the difference between the

e Y 1 S E 2  number of female lecturers in English
. (A) 36 and History?
(B) 48 (A) 36
©) 42 (B) 48
(C) 42
(D) 54
(D) 54
2-C '




37. m%mmﬁmm

3R 9 T % dvad 5y gl
B | T8 WARIE R % ey Qe

1 TS S o o S 0

e | ST W6 Hif ;
(A) 5:4
(B) 4:3
©) 8:7

(D) 7:3

38, et TG S T o o

m%éﬁr@faﬁmm%lw
ORE | wﬁaﬁﬁmm
ﬁmmﬁwéﬁﬁaﬁm
ﬁmﬁmﬁmww%7

@A) 331y
3
(B) 60%

©) 66—§-%

(D) 50%

37. For an event of university, only
lecturers of Mathematics and Biology .
have to participate. Find the ratio
of the number of male lecturers of

Mathematics to the number of male

~ 38. Inanevent 6nly lecturers of Chemistry

and History have to participate. In this
event, the number of female lecturers
in Chemistry is what percent more

than that of male lecturers in History?

© 66-§-%

(D) 50%

[23]



39.

40.

.Wﬁ@lﬁ%l

o dm—gf, Tg, o, fi, w
3R gt 1995 | 2000 T AT-AT
af o ¥ gu ¥ | diaw 5= T
7§ # gon €1 fya &R W & " QD
Sl &1 S g3 | i w1 5 Wad |
TEe SR O F IS g3 ¢ | [g A
m@waﬁiﬁaﬁgaﬂ%ﬁnm.

forman &=7 ad 1998 H g3 @ ?
(A) T
(B) Waw
(C) g
(D) guH

s Fifer g2 “T §, °f ‘EXPRESS’

@‘QZ’Q?FQﬁWWW%ﬁI
‘FEELING’ %I ‘44’ &% &9 § F2iFd
e W €, @ I W@ § EMO-
TION 91 %8 Feiga foran ST ?

(A) 91
(B) 85
©<© m

(D) 105

‘\QN Cc :.f_},__

\<i;5?_§/bo was born in the year 19987

40. In a .certain code

39, Six people—Sumit, Rahul, Sushma,

Priya, Pritam and Khushi were born
in different years from 1995 to 2000.
Pritam was born in an odd year. Two
people were born between Priya and
Pritam. Sumit is born before Pritam
but after Sushma. Rahul is not born in

an even year and Priya is the youngest.

i

A _
: ?@Qz\z ¢ Khushi

[ thejobsyogi.com y

(D) Sushma

language, if
‘EXPRESS’ is coded as ‘92’ and
‘FEELING’ is coded as ‘44", then
how will ‘EMOTION’ be coded as in

that language?

2-C






41.

1 sl ¥ A Fred e

I, 11 3R 111 e 2 ¥ 1 7% wra gu fin
FF T E, 9 F Y g v @
I e 9§ o S 8N B, Frofa ot e
F-9 Fred SR w1 i w1 R

41. Three statements are given followed
by three conclusions, numbered I,

II and III. Assuming the statements
to be true, even if they seem to be
" at variance with commonly known
facts, decide wh_ich of the conclusions

logically follow from the statements

Statements :
Some bikes are cars.

' Some cars are buses.

[ thejobsyogi.com

> All cars are vehicles.

I %O 9% R
I goamaEAEl
. §6 9% FRE | '
(A)fqtﬁﬁrassfl‘aﬁtnimwﬁ.
(B) fad frepd 11 &R NI STTET
(©) o e | 3 111 ST 0 &

(D) w4 fresd 1, 11 X 111
H &

Conclusions :
. Some vehicles are bikes.
. II.  Some buses arc vehicles. :

III. Some vehicles are cars.

(A) Only conclusions I and II follow

(B)‘ Only conclusions II and III

follow

(C) Only conclusions I and I1I follow

FIOPND) Al conclusions 1, 11 and Il

. &:‘.:'\‘,\ follow

=A™ )

\ 51

\ ’?A/p //





42.

43.

39 faweq & 99 B S AW ER-
e ¥ I wHR wafta §, fm wer
T SE-TE TES NA-HE W Haiftrd
v

GARMENT TRNMGEA :

YOUNGER
(A) RUENYGO

(B) YURNOGE
(C) RUYONEG
(D) YURONGE

=Q @M <) GHAR Ui 1 o 2 F A3
T dif 1 o oW, faeg, wiem, Wdw
31t T faur ot 3R g i A8 § 3R
tfir 2 F <telt, Yo, g, X9 ofR fam
I HI AR Y& Fh 36 THR 9 & fh
Ufem 1 1 WS W Ul 2 % HSH
¥ A-gmA ® 1w i F 9 BR

. W YA B 3G ge foazg & Fhean
S Wt IR | M, faeg & 9l R

frdt T WM W A3 § afed dfem &
3ifem BR W & 331 € | o8 <Afer forwaht
e WeM 3R ¥, X0 F 9% a1 e
3| WdF, o g q TR WH W

%a%raﬁ?vm#nﬁxaq%aé},ﬂt

3 R

\;‘:\\\ right of Sana.

~ .
o) N
& 1)
¥ B .
A A
=T Kl A | >
AN

/('//

42. Sclect the ‘option that is related to the

] P

third letter-cluster in the same way as
the sccond letter-cluster is related to
the first letter-cluster :

GARMENT : TRNMGEA ::
YOUNGER : ?

) RUENYGO
YURNOGE
RUYONEG

I i-'::‘}"..‘":,;‘,/
D) YURONGE

- 43. Ten people are sitting in two parallel

rows 1 and 2. Anuj, Bittu, Farhan,
Sarthak and Rajan are sitting in row 1
facing the South and Dolly, Reshma,
Sana, Renu and Simran are sitting in
row 2 facing the North, in such a way
that each member in row 1 faces a
" member of row 2. Reshma sits at the
extreme left end of the row. Reshma
faces an immediate neighbour of Bittu. -
Farhan sits at one of the positions
to the left of Bittu but not sits at the
- extreme end of the row. The one who
faces Farhan sits to the immediate left
of Renu. Sarthak sits third to the right
of Anuj. Dolly sits to the 1mmed1ate

\ Who faces Simran?
(A) Bittu

/(B) Sarthak

(C) Anuj

(D) Rajan




V

4. 39 foshed &1 w37 S Pl e @ 44. Sclect the dption that is related to the
34t ¥R FEftE §, mm{qﬁﬁ@[ " third number in the same way as the

veeh WA § Heifq § : second number is related to the first
| number
8:‘448::13§? bn ACAN
‘ o i 8:448::13:?

e 4

(A) 1859 *)
~/ (A) 1859

®) 845' iy (B) 845

(€)' 1521 - IOigheii O ©) 1521

(D) 2028 i (D) 2028

45. feu T e Wﬂﬁw Ed ai’R’ 45, Study thé given pattern carefully and

hha

39 gE&n w1 =99 Tﬁ ﬂ"f 'a'aﬁ El‘ﬁm select the number that can replace the
fag (‘?) ED uﬁwﬁa Eh'( F%F | question mark (P init:
57 | 12 | 195
73| 19 257
2| 23| ?

(A) 153 ol E“,“(A) 153
(B) 197 ./ i =10/ (B) 197

© 172 (€) 172

(D) 215 (D) 215

2-C






46. @7 sl .'-?‘ﬁ a9 Frewd AR 46. Three statements are given followed
L 11 sk 11 feg e § | aE W ge 6 by three conclusions, numbered I, 11
‘af RN «d and 111, Assuming the statements to be
e e @ e s e @, foka 3 true, even if they seem to be at variance
S o = - with commonly known facts, decide
= hich of the conclusions logicall
Y 7T HA ¥/FA § \@\\\\w e ’
6\ llow(s) from the statements :
AR AT ,9%' o
4Statements :
Fo W= T LA R ‘"ff-/ R .
e Some shirts are pants.
e SfE el | |
i g Some pants are jeans.
oft SiTg afRer € | :
All jeans are garments.
frreen - Conclusions :
A AL WE ' . Some garments are shirts.
I FoIRANEE | II. Some garments are jeans.
. 39 Sra e g | | 111, S@me jeans are pants.
(A) fads fehed [T 7T ER?IT% (A) Only conclusion II follows
(B) - fards firepl 1 &R 111 TG W (B) Only conclusions 1and Il follow i
(C) fads firerd 11 3R 111 STTETT T ___ (C) Only conclusions II and Il
,,;,ﬁ{ ’6‘;\-’\\_;;\\ ;

{ l/ € ‘ ‘i ¢ .

Lt < i \}
(D) fards frreend 111 STFER0T A %\ ( gt }p})) Only conclusion III follows

@\ = ¢ FREL,

2-C ‘ Ry A4 ’



mdwnaﬂus%ﬁwm;

g@a;maﬁﬁw, ;
ggaxﬁa U v, w,.X, Yaﬂ{ZW_
a’«lTi'c%%l :

U, V 3R W‘é?i?nn'én
WX'@W%I%EEQW&HZ'%E&%%I

Wﬂmaﬁwﬁaa&mvsﬁ 0.

PRI | |

(A) =R
(B) ?ﬁ
(C) zﬂq

*) 178@@.
®) 1,70@11
©) ilés'aﬁ.
©) 17230, .

Zaﬂz U o,

Direction for Question Nos. 47 and 48 :

~ Study the following information carefully

and answer the questions given below :

Six persons U, ¥, W, X, Y and Z are having |

'diﬂ'erent heights.

U is taller than ¥ and W. Y'is taller than Z

" and U, but shorter than X. There are only

two p,ersons'_who are shorter than Z. Second

tallest person has a height of 175 cm. V is

(C) Three

- (D) 'Nor}e of the above

48. What is thé pbs’sible height of X P

(A) 178 em -
(B). 170 cm
© 165em

(@) 172cm

1 " TR
. ~l ) .|
| andEe
{ ‘ ’ ) e A
; R 4
. AL s : 2 04!%' e =)
» . (RS i
¥ . L
y ¥ I &£ VA
] v \ Y i




U H. 49 q 51 & T Freer e

firefofas gu B wIF QTR I8 T ¥
FIW :

T@@m—P, O, R, S, T, U, V, W, X 3R Y T&H
FaR § ¥ § 1 370 | IO IW iR FO <faw
F} 3R Je & 93 ¥ | AR | e A iR
H 3R g =& T T3 T oifdm 3R W 93
wr fagda fon #t 3R Hg FH 93 ¢ |

R, S % =T Fret T W A ¥1 36w @
3iftm B8R W a1 71 7, e g <fw @l

IR T, RF I Y WFA VISR TR Ve

FARTA A B TR RE VR rE
'aﬁaé%%sﬁﬁRéaariéa%l Y & feheam
TRt % Ye T fewm @ @R E (A A

% Y afHu H SR € A1 SW @) 1 Y, v
FAU AT WA RIS I QR WHaea g

fet 93 €1 Q & g <o &t IR A ®1 v
& fehean il w1 g foarqdia foen 1 o
% (T 1 g I A 3R, TEh qE B P
gfeqor st 3R ¥ a1 39 fawda) 1 PR U T
F forcan gt €1 P ¥ < i @ Wy
81 T % frerean v fauda fgwn =1 ofr g
= A E | U, Y H T € e g B

(2 AN
ol = \ %)
.k'l
o\ ﬁ/

PR

o

C,,-,' rection for Question Nos. 49 to 51:

Ve

Study the following information carefully

and answer the questions that follow :

Ten people—P, O, R, S, T, U, V, W, X and
Y are sitting ina iow. Some are facing north
and some are facing south. Not more than
four people are facing south. Persons sitting
at the extreme ends are facing the opposite

directions.

R sits third to tiie left of S. Both are facing
the samé direction and one of them sits at
the extreme end. T, , who faces south, sits
fourth to the left of R. There aré as many
pe'qble_ sitting‘between Tand Vas between V'
and Y, whoisits to the right of R. Immediate
néigiibours of Y face the same direction
(either both gré facirig south or both are
facing north). U sits fourt}i to the left of V.
Two people sit between Q and /. Q is not
facing south.. Immediate neighbours of V are

faicitig the opposite direction (one is facing

north while the other is facing south or vice

versa). P and U are immediate neighbours
of T. X is third to the right of P. Immediate
neighbours of T are facing the opposite

direction. U faces the same direction as Y.

2-C
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49. WW 'qm amy | 49. Find the odd one out :
(A) Y
B) P

) X

D) W

50. .R% m é% E‘T"ﬁ T*ﬁ 'ﬂ'@ﬂ M # T | 50. Number of people sitting to the right of
R is equal to number of people sitting
to the right of___ |

CFill in the blank with appropriate
option : | o o

@) W

®) 0

© P

® ¥

W is felated to Rand T is related to
X. In the same way, which of the
. followmg is related toP?,

() X

®r
© s 4
o'v g

it
Mty 2




- S2.

53.

ﬁqﬁiﬁaﬁﬂﬁ?—ﬁmﬂnﬁm
ﬁmﬁg(?)aa‘lgﬁmnﬁﬁm?

352, 285, 7, 165, 112, 65
(A) 198
®) 224
©) 219

(D) 232

= e P, O, R, 5 31K T srei-amem

@?ﬁuvwxﬁtyﬁm%aﬁﬂ ‘

Waﬁﬁﬂwmﬁﬁum
Foraneff, 3, T, sfer, e 3
Tﬁﬁﬁﬂﬁ@@ﬁﬂﬂmm%l
R U v ¥ 1 Q it wEg TR
< ) she Tae & et aE v H WA e

y 3 foreneft ) Fore wEiE ¥ 1 T S

et R AA W AR Y FIAT

0 wHdea®l

ﬁwﬁf@aﬁﬁmmﬁﬁmm
s |
(A) W
® 0
© R

(D) P

52. Which of the following numbers will

replace the question mark (?) in the
given series?

352, 285, 7, 165, 112, 65
198
224
219
2%

53. Flve students P,O, R, Sand T study

in different schools U vV, W,Xand Y,
but not necessarily m’trhe same order.
Each one likes only one subject, viz.,

Eng)lish, Science, History, Geography

~and Mathematics. R studies in- U.
- Q does not like Geography, S likes

Hlstory and studies in Vi The student

“of Y likes Smence T likes Enghsh but

he is nexthervfrom W nor Y. Q studies

in W.

thch of the following students likes




54.

() LNNPCEDFQSMO

55.

I T ﬁméwgmmkp
'RHUaﬂTZa?m%lwenmww

wh fafed g2y q, ;SPRING’
I ‘RTOQQSHIMOFR> 4 iR
‘WATCH’ =i VXZBSUBDGI *
w0 H FAFA fEm W S
4 ‘MODERN’ 91 % gt fiy
a2 '

e,

(A) LMNPCEDFQSMO

(B) LNNPCEEFQSMO

(D) LNNPCEDFQTMO

@ﬁqﬁﬁ?ﬁm-mmmaﬁ

ﬁaﬁHﬁz&ﬁ%mﬁm%ﬁqﬂa
Wﬂ'{'@’ﬂ

54. Ina‘'certain code language, ‘SPRING’ -
‘RTOQQSHIMOFH’
coded

How

is coded as
‘WATCH’
‘VXZBSUBDGTI".
‘MODERN’ be coded as in -that

' language?

and 1S as

will

@) LMNPCEDFQSMO
(B) LNNPCEEFQSMO
(C) LNNPCEDFQSMO

(D) LNNPCEDFQTMO

different pqsitions the

. Two of ,

dice are shown, the six

of which are

asK,P,R,H,Uand Z. ‘S‘elect the letter

same
faces marked
~ that will'be on the face opposite to the

face showing the lettér H:

[33]




56. wﬁmmwﬁﬁmﬁm@z

(4, 24, 648)
(A) (7, 63,4095)
(B) (2,8,99)
©) G,15,270)

(D) (5,30,990)

LA+ T A BRI

‘A%B % A &4, B @ &
‘ASB’ T e & ‘4, BF W’

"Gt P+LSU%TSN+I® @

.(B) T,IRTEE

frefefa & @ -9 HF T
§7a ' |

A) U NEAE

C) U, Pmyas

(D) L,Tﬁﬁ%

56.

57.

Select the option in which the number .'

set shares the same relationship as that

\l
AN

(\;\-} shared by the given number set :

(B). (2,8,99)

©) (3, 15,270)

(D) (5, 30, 990)

‘4 + B’ means * A is the husband of B” -
‘4%B’ means ‘4 is the father of B’

“ASB’ me;ms ‘4 is the mother of B’
1f‘P+1_.-$ U% T$ N+, then which of
the folloWih_g statements is incorrect?
(Aj U is the maternal grandfather
 ofN ] .'

 (B) Tisthe mother-in-law of

y ﬁ'\(C) U is the son of P

%\

"(D) L is the ‘matemal'grandmothcr

/

of T

2-C




58.

59.

(L4
(A) Qz

(B) NP

o PR M, TEAM 3 v
3R

1S Y 'LEFT'aﬁarém

© - NZ

(D) QT

@Wﬁmmwmm

F GRS @ W 56%aaﬁm sifsra

'EBIHT%IEI'E' 12%%&%@;#@%% |

%aﬂt@wﬂﬁéﬁaﬁaﬁmw
%mwuﬁﬁwsﬂém%wﬁ

i 12 i e 3 4 T 8, A

(A) 26.72%
(B) 20.96%
©) 32.64%.

(D) 18.33%

'REMAIN' 9 ‘WNW" ferar s

58.

In a'certain code language, ‘TEAM’
is written as ‘YN’ and ‘REMAIN’ is
written as ‘WNW’. How will “LEFT’

be written as in-that language?

59. A bookseller marks his books at an

advance of 56% on the actual cost

- of production. He allows a discount

of 12% and also gives a copy freéi ‘

for every ._dozen sold at a tirhé. What

s percgnt' -profit does thé , bodkséller'

- make, if the books are sold in lots

of 127




v . 60 ¥ 62 & ferg Fder

'E‘smaiﬁm:

K. L. M, N, O, P 3R Q 78 & T e Th
¥ v T SFafd fHy e ¥ AfET 7w S
fFas FA A

N 0 o S et T AR L

r@w%lo%Wr@Waﬁ@fﬁﬁ@r

K%ﬁ%mﬁﬁaﬁﬁé@lﬁ@m%m
3R L% <= o @ e @ e ¥ e
ﬁ@ﬂa@P%aﬁ%W;@W%lQ,

oa#hK%ﬂé%,_urﬁagwﬁﬂﬁ

&

0. N¥ R PR A E?
(A |

®) ?

(©) @

D) &

61, Froeram # 3 F-w e T
- %?
(A) PF IR ol §
(B) 0, M & a Tt
© LewsRaEt

(D) I9E G

-
)
I

-cction for Question Nos. 60 to 62 :

“"Read the following ‘information carefully

and answer the questions :

Seven boxes named K, L, M, N, O, P and

Q are arranged one above the other but not

necessarily in the same order.

N is placed on one of the places above Q

but below L. The number of boxes placed

| above O 1is onel less than the number of

boxes below K. Only two boxes are placed .
between K and L of which the second
box is immediately placed above P. @ 1S

placed belo(v both O and K, but it is not the

lowermost box. -

60. How many boxes are placed below N?

" (A) Four
(B) Two
(C) Three
(D) One
61. Which of the following statements is
. true? - L |
LEN
4\’ \(A) Two boxes are placed above P
<% \OL \‘
-4 W
e / (B) Qis kept 1mmed1ately below M
1/\; (:r)"'f

(C) L is the topmost box

(D) Allof the above

[36]



62. AfE =il 1 =t 9§ SR TF quigha § 62. Iftheboxes are arranged alphabetically

e fefan s ®, @ fe 7 q ey ~ * from bottom to top,‘thcn the position'
- eorf f sl ¥ ‘
il afeafda w2 == of which of the following boxes will
‘ J\ON AR '
AN é"‘x C‘?)}‘ remain unchanged?
( ) K i"u 9% ™ \Ii
to < = |}
; . . N\ ¥ @A) K
(B) ‘ Q { ‘ \ % -c)!b/“/il
. SRR ()
© o | e |
4 W . © o
D) L M i O} 'L
_ )
63. wh GHers =g ¥, PO || SR, PQ= | 63. In a trapezium, PQ || SR, PO =
. 7 3., SR=11 . & 3 PQ 3T SR 7 cm, SR=11 cm and the distance
o =4 1 gl 4 L. %| T 3R U, 99: i between PQ and SR is 4 cm. T and
PS 3R OR % AHA f"“"ﬁ %' fag O ™ U are the midpoints of PS and OR,
faem & feag SP 3‘ﬁTRQ <l FEr Sl respectively. SP and RQ are produced
Y s OTU W (i a H) | to meet at_point O. What is the area
CFmE? i N (in cm?) of triangle OTU?
A) 45 . Y:\b (A) 45
2 b | '
(B) 40.5 V. / (B) 405
©) 54 i I (VR
(D) 49.5 A (D) 49.5

2C’ B s i [37]



64.

65.

66.

(D) 25

Frefafaa ¥ @S- zﬁa@ﬁﬂﬂipj@'ﬂ
F weq fag (2) T whereenfa@ st ?

13, 34, 74, 170, 290, ?
(A) 414
(B) 458
(C) 375

(D) 389

72 SeX IF W W ST H § Y W

it Forenren T 3 SAE T gy W

¥ fien fean man f @ @EE AE0 A
fiysgror =51 TremTen T AR g fieman T

. gftomTeEEy w4 § 32 T g8 T ®
7| SRy B fera uHl e @y

(A) 18X
(B) 16 TX
(C) 20X

(D) 24X

Afz 717l = 9352 %, A SEH AR

1 & ?
(A) 625
(B) 3125

(C) 15625

64,

65

Which of the following numbers will
replace the question mark (7) in the
given scfics? |
13, 34, 74,
414

458 -

375

389

170, 290, ?

Several litres of water were drawn off
a 72-litre vessel full of .water and an
equal amount of milk added. Again
the same volume of the mixture was
drawn off and replaced by milk. As a
fesult,, the vessel contained 32 litres of -
pure water. How much the water was
drawn off initially?

(A) 18 litres

(B) 16litres

(C) 20litres

66.

(D) 24 litres

If 7"*l 7X'

value 'of '52" ?

= 2352, then what is the

(A) 625

22\ (B) 3125

(C) 15625

(D) 25

2-C




60
50

AhaAd L —>

a0+
30+
20+
10+

0 t = t t t —
2015 2016 -2017° 2018 2019 2020 2021

Tﬂf—»

T 2016, 2018 2020 3iR 2021 # v
mawvﬁ?

A) 37%

(B) 40%

(C) 43% [thejobsyogi.com

(D) 33%

6s. ﬁqﬁf@aﬁaﬁq-ﬁﬁ@;mﬁﬂi@w'

4 s i (7) 1 et =t 2

SN | : (b
13, 42, 129, 390, ?, 3522 L§>

e
d

Success Rate

Su
C‘«\\

. The frequency polygon shows the

ccess rate by a batsman in different

" 2015 2016 2017 2018 2019 2020 2021

-

Year —»
|

What was the average failure rate in
the years 2016 2018, 2020 and 20217

(A 37%

(B) 40%

(C) 43%

" 68.

\\

(D) 33%

Which of the following numbers will

' replace 'the question mark (?) in the

"gl‘\ven serles?

13 42 129, 390, 2, 3522

(A) 978 z

| S (A) 978
® 17 Gl SRR ) g3
(C) 1215 () 1215
D) 1049 (D) 1049

2-C
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69.

- lﬁ‘{alﬂﬁ Sl ﬁﬁﬁa?ﬁqw

o 11 A 37 A ¥ o arer sl
few e ¥ 1 -1 e, -1

. mmaﬁm@.ﬁww

aﬁ%mﬁﬁmmm%,w

ﬁ?@ﬁaﬁﬁzﬁfmgmm%l

aﬁﬁqamﬁ%ﬁqmﬁﬁﬂﬁm —
< 19 ez I
Fu Qgﬁ W A I IR G-
TR -1 et -1 Wwaﬁmﬂq%l?ﬁﬂl
(@) v 3Tt , gE-11 & Fiferg aen i fau
(b) s (i) wx r ‘ | :
© e (i) = £ e § W I
@ & © el -1 A Sl
Ay @) @ - 0 ' | - |
®) @) @) @) (@) wem | () qR F 3@ @H oo
< O () (i) e 1ohibiamm - '
D) @y O - G _ s
. ‘ S |®) demm| () @ * " W MU FWE
it ooE ¥ R a1 w9-ited e A |- e
TET e €, S o1 el W § 2 ©nrm Ji @%gfa_ﬁmwg
| (A) s - k o
ﬁ? l thejobsyogl com 5@’ o _'(W) kAT ke
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